VOICE

Form: am'is/are

was were + past participle (-ed)

has’have been

will
The pastparticiple of mgular veibs ends —ad . There are many common iregular verbs.
Forexample: The film is divected by Steven S peilberg. The house was buik.
We use the infimtive after modal verbs and a mimber of other verbs-have to, be going to, want to, I can swim. Some
verbs can have two objects :offer, tell, serd, pay._
There are two special forme for verbs called voice: active voice and passivevoice. The active voiceis the "normal” voice.
This is the voice thatwe use most of the tire. You are pmbab ly alread y familiar with the active voice. In the active voice,
the objert eceives the action of the verb: Cats eat fish. The passive voiceis less usual. In the passive voice, the sub ject
receives the achon of the verb: Fish are eaten by cats. But sommetimes we need the passive voice. The structuie of the
passwvevoice 1s very simple: The main verb 1s alwvays in 1ts past participle form.

subjert+ amxiliary verb (be) + main verb (past panticiple)

We use the passive when: we want to make the active object more important ;we do not know the active subject We can
form the passive 1n any tense. In fact, coujugalionaf verbs in the passive terse is rather eas y, as the main veib is always 1n
pas t participle formand the auxiliary veib is always be To form the required tense, we conjugate the auxiliary veib . S o,
for example: presemt simple: It is made presemt continuwous: It is being made. p perfect: It has b made .
Present Simple and Continmmwows passive, The uses are the same 1n the passive as in the active. My car 1s serviced
regulady (= habit ).Computers are used in all areas of life and wonk. (= fact which is always true).
Past Tense in the passive; The uses are same in the passive as in the active . The house was builtin 19599-( past
simple-fims hed action in the past].
Will-positive and negative; 10000 cars willbe prod iced next yvear. The cars will not be sold in USA.

There are two types of action veibs: transitive and int rans tve.

A transitive verb expresses anaction ard 1s followed by an object that receives the action of the veib .

John stuedies (what ?) Enghish ./ direct object/

An intransitive verb expresses anaction butis not followed by anchject. Applying (what?) or (whom ?) test to an
intransitive veib shows immediately that an ocbjectcannot follow .

The mother sang (what ? whom?) to her childen Many veibs canbe both trarsitive and intrarsitive.

John smedies (what ?) English John stedies hard / intmnsitive weib /

Linking verbs do not show action. A linking verb links or establishes a mlatiors hip between the subject and its
complement. Itdescribes or names the sub ject.

She is angryr. The word is (a form of the verb to be) links the subject she to the subject complement angrr.
Linking Verb followed :- by predicate nours ( My friend is a teacher ); - by predicate adjectives | I feel rervous J.



